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1.Which statement is correct regarding the Hub Tivoli Enterprise Monitoring Server (TEMS) in an IBM 

Tivoli Monitoring V6.3 environment?  

A. There can only be one active Hub TEMS in each environment.  

B. There can be more than one active Hub TEMS in each environment.  

C. The number of needed Hub TEMS is determined by an updated file during installation.  

D. The number of needed Hub TEMS is dependent on the number of active links to agents.  

Answer: A 

 

2.Which statement is true regarding Tivoli Enterprise Portal Server V6.3 (TEPS)?  

A. Oracle is now a supported database for TEPS.  

B. Authorization policy enforcement is enabled by default.  

C. IBM Tivoli Monitoring V6.3 strongly recommends the upgrade to Java 6.  

D. The dashboard data provider is optionally enabled during the TEPS configuration.  

Answer: D 

 

3.Jar for Service Management accelerates deployment, integration, and workflow automation across 

which tools?  

A. Only IBM tools  

B. Only third-party tools  

C. Only IBM and partnertools  

D. IBM, partner, and third-partytools  

Answer: D 

 

4.Which enhancement is added to the IBM Tivoli Monitoring V6.3 (ITM) agent for UNIX OS?  

A. Support for self-describing agents.  

B. Support of monitoring file systems of the NES.  

C. New TM capabilityto perform prerequisite checking for agents before performing an installation.  

D. A varietyof metrics have been ported from the AIX Premium agent to the TM agent for UNIX OS.  

Answer: D 

 

5.If Java is not initially installed, which version is installed when the Tivoli Enterprise Portal client is run?  

A. IBMJava6  

B. IBMJava7  

C. Oracle Java 6  

D. Oracle Java 7  

Answer: B 

 


